[ Efficiency vs vertpos |
~ 0.05

YT SRS R S S—
2 : : :
U e e
©.035F] - ooeeeieeee e e o
3 : :
SO0 i o e
0.025F:+weesvifee oo eeeeeennes o
0.02E oot | S
0015 -y bt g
Ol - R v A S ) CE S
0.005
1Q

Ratio

1

'-.D-"i-'.Jl' T ||||!||l

0.8

1072 10 1 10 0?
TP vertr (cr%)

MKEIT_T 1base
mKFit_TT_retrainOldFiles125

DOM
DOM
ol DQM_mKFit_TT retrainNewFiles125
Efficiend = pSM mkFit TT retrainNewFilos 125AndSQCD

~ 0.02

o FT:) SETUPRLOURRUNRE NSO SURSUNOE N RSSO SO
0 C .
2.016 £% RN RFTEREET
& F :
9.014F 0 R
o o .
0.012 E LS T | 5 PR
@ L 1+ : :
0.0l it 311 K
0.008F ( R 1L 1R
0.006F | ; f L
0.004F : ; B 1
0.002F Lo Feeens F 1TSS
i P P 1 L A TP e (1 111
2 q.—' ----- n LI T- , [ A
S :Mlj}‘lrﬁlllli:
hd o X At yE :
08f----ft-+-+ 1 ‘ T : H {11 S
T
-20 -10 © 10 20 30

|
w
o

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
9.035
2y
c0.03
[}
8.025
(0]
0.02
0.015
0.01

0.005

Ratio

-20 -15 -10 - O é 1015720
Sim. PV z (cm)



	Contents
	Page 1


